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During the reign of which of the
following rulers Sahibram
introduced the tradition of ‘Life-
Size Paintings’ ?

(1) Anirudha Singh, Bundi

(2) Ram Singh, Kota

(3 Vinay Singh, Alwar

" (4) " Ishwari Singh, Jaipur

(5) Question not attempted

Where among the following is
‘Kanthal Festival’ organized ?

(1) Banswara (2) Bikaner

(8) Chittorgarh (4) Pratapgarh
(5) Question not attempted

Which of the following rituals is
not related to the grief of death ?
(1) Dhukav (2) Bakher

(3) Aagheta (4) Satarvada
(5) Question not attempted

‘Raj Prashasti’ was translated in
which language by Pt. Debi Prasad ?

(1) Sanskrit (2) Persian
(3) Rajasthani (4) Urdu
(5) Question not attempted

Which of the following is not a
form of ‘Khyal’ ?

(1) Rasdhari (2) Gaha

(8) Saang (4) Tappa

(5) Question not attempted

Who among the following
Governors of Rajasthan has
addressed the Rajasthan

Legislative Assembly the most
number of times ?

(1) Shri Bali Ram Bhagat

(2) Shri Gurumukh Nihal Singh
(3) Shri O.P. Mehra

(4) Dr. Sampoornanand

(5) Question not attempted

oC




b e

7.

oC

T % T ot giars frame

TR % "R # fr=ferfaa # @ = @ s

TR R ?

(1) 9 wEny fagmaw & B8 a)
R EIF £ |

(2) 3= 2014 ® "WEWy faumEwr @
et sreaer g ™ |

(3) o HENIE TR H @RI Td i
mgfd T T gH B |

(4) =N 30 I, 2024 I TTIH *
TSI T TSR TV fohaT |

(5) TTRA I

T Hrifaft frem & arger, Fefafea

T ¥ B A A ey I R I % @

AT <Rl WA feRd SRRT 7

(A) =afem o fermmor o fomn foreg W@
3} UG F EeEW F Igg
22 (4) (F) % T TATEHR TS
IS |

(B) W A, T TIEUS W el
T 97 ITh! AR | <1 Fiiew |
FEfRa g |

(C) Gu& TehHl W R-whr fadent &
fore aert +fifa =1 srawm |

& forepeq 1 93w Hife

1) (A), B) IR (C)

2 %aa (A) IR (B)

(3) s (A) IR (C)
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™ ?

(1) 1958 (2) 1965
(8) 1970 (4) 1972

(5) I A

Which of the following statements

is not correct about Sh. Haribhau

Kisanrao Bagde, Governor of

Rajasthan ?

(1) He has been an MLA for six
times of the Maharashtra
Legislative Assembly.

(2) He has been chosen unopposed
as Speaker of the Maharashtra
Legislative Assembly in 2014.

(3) He has been the Minister of
Food and Civil Supply in
Government of Maharashtra.

(4) He assumed the office of
Governor of Rajasthan on
June 30, 2024.

(5) Question not attempted

According to the Rules of Business
for Rajasthan, which of the

'~ following cases shall be submitted

9.

to the Chief Minister before the
issue of orders ?

(A) Constitution of an Advisory
Board under Article 22 (4) (a)
of the Constitution of India
for the detention of persons
without trial.

(B) Cases relating to petitions for
mercy from or on behalf of
persons sentenced to death.

(C) Determination of Government
Policy towards a private bill
at all stage.

Choose the correct option :

(1) (A), B) and (C)

(2) Only (A) and (B)

(3) Only (A) and (C)

(4) Only (B) and (C)

(5) Question not attempted
When was the office of Rajasthan

Public Service Commission shifted
from Jaipur to Ajmer on the basis

of the recommendations of
P. Satyanarayan Rao Committee ?
(1) 1958 (2) 1965

(8) 1970 (4 1972

(5) Question not attempted
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10.

11.

Consider the following Chief
Secretaries of Rajasthan and
arrange them in chronological
order according to his/her tenure.
Give the correct answer with the
help of codes given below.

I. C.S.Rajan

II. Usha Sharma

ITI. Niranjan Kumar Arya

IV. C.K.Mathew

Codes :

(e IV -1V T (2): -1 IV, TI. I
@ IV,LILII 4 IIV,IILIII
(5) Question not attempted

Consider the following statements
about Rajasthan State Human
Rights Commission :

(i) Statutory guarantees are
provided to the Commission
in Section 33 of the Protection
of Human Rights Act, 1993.

(i) The Commission has an
investigating agency of its
own headed by a police officer
not below the rank of
Inspector General.

Which of the statements given

above is/are correct ?

(1) Only (i)

(2) Only (ii)

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

(5) Question not attempted

12. Which of the following pairs is not

correctly matched regarding the
Rajasthan Panchayati Raj Act,
1994 ?

Section Subject
(Related to Matter
Gram Sabha)
(1) 8-A — Gram Sabha and
its meetings
(2) 8B — Quorum
3) 8-C — Functions of the
Gram Sabha
4) 8D — Resolutions

(6) Question not attempted
ocC
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15.
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In which year, the Rajasthan
Panchayati Raj Act, 1994 was
amended to make provision for

Constitution of Rajasthan
Panchayat Samiti and Zila
Parishad Service ?

(1) 2020 (2).-2021

(8) 2022 (4) 2023

(5) Question not attempted

Which of the following Rajasthan
State Legislative Assembly had the
shortest tenure ?

(1) Fourth (2) Fifth
(3) Eighth (4) Ninth
(5) Question not attempted

Consider the following statements
regarding the procedure to be
followed in Rajasthan Legislative
Assembly in respect of message of
ratification of amendment of
Constitution of India :

If a message from a House of
Parliament for the ratification
of an amendment of the
Constitution under the
proviso of Article 368 of the
Constitution is received by
the speaker when the House
is in session, he shall report
the message to the House at
the earliest opportunity after
its receipt and lay the same
on the Table.

The Principal Secretary shall
forward a copy of the message
to the State Government at
‘the first convenient
opportunity after its receipt
and in any case within three
days of its receipt.

Which of the statements given
above is/are correct ?

(1) Only (i)

(2) Only (i1)

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

(5) Question not attempted

(ii)
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16.

17.

Consider following statements
regarding The Rajasthan Fighters
of Democracy Honour Bill 2024
and choose the correct option :
Statement A : In this bill, “The
Emergency Period” means the

period commencing from
25t June, 1975 to 21st March,
1977.

Statement B “Fighters of
Democracy” mean persons
having domicile of Rajasthan
and who actively fought to
protect the democracy during
emergency period and who
were detained for any period
at any time during this
emergency period on political
or social or other ground in
jail or in police station.

Both the statements A and B
are true.

Only statement A is true.
Only statement B is true.
Both the statements A and B
are false.

Question not attempted

(1)

)
3)
4

®)

Recently, it has been announced to
start “Mukhyamantri Yuva Rojgar
Protsahan Yojana” in the budget of
Rajasthan 2025-26. In this, the
amount to be given as one-time
assistance to the eligible youth is :

(1) R 75 thousand
(2) 50 thousand .,
(3) T 20 thousand
(4) 10 thousand
6))

Question not attempted
oC
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(2)
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4
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19.

20.

Rajasthan’s first steel utensils
bank has been formally started ?
(1) Khairabad Panchayat Samiti,
Ramganj Mandi
(2) Govindgarh
Samiti, Jaipur
(8) Kishangarh Bas Panchayat
Samiti, Alwar
(4) Gogunda Panchayat Samiti,
Udaipur
(5) Question not attempted
Rajasthan’s first robotic kidney
transplant in the government
sector was done at
(1) AIIMS, Jodhpur
(2) RNT Medical
Udaipur ;
(3) SMS Medical College, Jaipur
(4)

Sardar Patel Medical College,
Bikaner

Panchayat

College,

(5) Question not attempted
In collaboration with which of the
following institutions, the

International Conference Thrive
2025 was organized between 19
and 21 March ? :
(1) Indian Institute of Technology
Jodhpur, Indian National
Science Academy &
International Energy
Environment and
Sustainability Society

Indian Institute of Technology
Roorkee, Indian National
Science Academy & Indian
Institute of Technology Jodhpur
Indian Institute of Technology
Kanpur, International Energy
Environment and
Sustainability Society &
Indian Institute of Technology
Jodhpur

Indian Institute of Technology
Jodhpur, Indian Institute of
Technology Hyderabad &
Indian  National = Science
Academy :
Question not attempted

)

3)

(4)

(8)
o
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21. In the Rajasthan budget 2025-26,

“Pandit
Urban

implementation of
Deendayal Upadhyaya

Development Scheme” has been

announced. The -duration of this
scheme will be

(1) 10 years (2) 7 years

(3) 5 years (4) 3 years

(5) Question not attempted

22. Recently on 8th March 2025, in how

many categories has Rajasthan
State Road Transport Corporation
been given

Undertaking, New Delhi ?

(1) Winner in one category and
runner-up in two categories.

(2) Runner-up in three
categories.

(3) Winner in three categories.

(4) Winner in two categories and
runner-up in one category.
(5) Question not attempted

23. Match the Column-I and Column-II

by choosing correct option for
Padma Shri Award 2025 winners :

Column-I Column-II

(Name of Padma (Their Field)
Shri Winners from

Rajasthan)
(A) Baijnath : (1) Literature
Maharaj and
Education
(B) Begam Betul (1) Art
(C) Sheen Kaaf -  (iii) Spiritualism
Nijam (Shiv
Kishan Bissa)
Codes :
A ®B) (©)
(1) @) @G (3G

(2 G) Gi) @
(3) i) @) @)
4) ) @) @
(6) Question not attempted

oC

awards by the
Association of State Road Transport
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24.

25.

26.

Consider the following statements
and choose the correct option for
the C.S. Challenger Cup
Badminton Championship held in

February 2025 :

Statement A Rajasthan
Accounts Service women'’s
team won the trophy for the
third consecutive year by
defeating Medical Services
team by 4-3 in the final.

Statement B : This was the fourth

edition of the C.S. Challenger

Cup Badminton Championship.

Both the statements A and B

are true.

Only statement A is true.

Only statement B is true.

Both the statements A and B

are false.

Question not attempted

D

(2)
(3)
(4)

®)

In March 2025, in AFC Beach

Soccer Asian Cup held in Thailand,
- which of the player from Rajasthan

took part ?

(1) Amit Jain

(2) Amit Godara

(3) Amit Kothari

(4) Amit Rathore

(5) Question not attempted

Match List-I with List-II and select

correct answer using codes given

below :
List-I List-II
(Ocean) (Island)

A. North Atlantic i. Digo Garcia

B. Western Pacific ii. St. Helena

C. Indian Ocean  iii. Kiribati
D. South Atlantic 1iv. Azores
Codes:
Ai-Be CoD
(hy <1 R e
(2)7 Al Avai i 1
(@) vy g il
(4) il ave 1 1

Question not attempted

®)
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27. F-1 1 g=-11 & gafea Hivd qen f=

28,

29.

3 ™ e @ v s = R
g1 THA-11
(S ve) ()
A o= I %9
B. figme . st
C. wufA III. dmsafaEr
D. @m IV. JuEe
E. o V. fum
$C:
ARG D R
0 AURT R T T e 1 |
@1 I TV Y
(65 it AV S P R AR § 8 |
@ NIV I @l I
(5) 3aNE S _
g T o8 UigeieH Siaueey fHid-2024 % -
TER, F=faRaa § @ #i7 @1 2w fiwa %
gaiftes SHEE are 3 i e A
aftfea i g ¢
(1) J@wy (2) FvEHRRE
(8) wifeream™ (4) RS
(5) raRd ¥
G-I 1 F=t-11 o a1 e Hifdrg qen
= feu T He w1 I F FE ITW H:
T HIfT
-1 11
(3 wie) (I
A. COP 26 i o FAT-IE
B. COP 27 . ¥
C. COP 28 iii. =3
‘D. COP 29 iy, TTE
R
A B ¢ '8
(- eiviicog i m
(2): dvisoiie e
(3). diti il dvod
(g o ani i v
(5) IrFERE ¥

27.

28.

29.

Match List-I with List-II and select
the correct answer from the codes

given below :
List-I List-I1

(Local Wind) (Country)
A. Chinook I. France
B. Mistral II. TItaly
C. Khamsin III. Siberia
D. Bora IV. USA
E. Blizard V. Egypt
Codes:

A =BECTTPT R
@)1V 2 B oS ST
(2) tdee I g1 AV
@) IV 1N a1
()N o NE ST Q]
(5) Question not attempted

As per UN World Population
Prospectus Report-2024, which
among the following country is not
included in world’s top five most
populated countries ?

(1) USA (2) Indonesia
(3) Pakistan (4) Bangladesh
(5) Question not attempted

Match List-I with List-II and select
correct answer using codes given
below :

List-I List-II
(UN Conference) (City)
A. COP 26 i. Sharm-el-

Sheikh
B sCOP 27 ii. Baku
C. COP 28 iii. Dubai
D. COP 29 iv. Glasgow
Codes: :

A B ¢ D
(Psivr s i Sl i
@) isve A o ini a1
@)=l N gmeed
(4) i inie cilaaiy

(5) Question not attempted
ocC

[




30.

31.

32.

33.

3 T 908 gy Siageed fHie-2024 %
FER, frafafaa & & 9 &5 3 1990-
2024 % A HaTTeh FAEE Farei
6 At Y ?

(1)

(2) 3o i

(3) St 3rvhrenT 3R afveHt TRmn

(4) e 3T fRroft-gelf eftrn

(5) TG A

frafafea & @ =9 @1 TEgdE wrde
TSR T W &I 7

(1) HTef-TTAR ISR

(2) It AR wEfet

(3) BT ARG ISR

(4) s veiteam

(5) 3TFaia A

e wemR fgye IOD) T=fRm 2 -
(1) T wemmr & g wfasmEmf |
(2) T werErR & SshaTdi SareH |
(3) TCtg A st sferszramof &
(4) W @i & YT SIorau d
(5) ITTARA T ~

TEdE e At % @ A7

fefrfea d a P T g TE R ¢

(1) v AfEi % sAver SRE
AT ST A AHRADIR 2 |

(2) ufadt g yREdE Wid w1 e
ESACEIEC RS

(8) e 3R ardt afeaf 3@ @ER #®
STeHE 1 i wEdt € |

(4) HRQ & wmE A G H

oC

S 1 fmior Tt 2 |
(5) FITRA

|
|
|
|
|
!
|
I
l
|
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30. As per

31.

32.

33.

UN World Population

Prospectus Report-2024, which

region of the following hosted more

international migrants during

1990-2024 ?

(1) Europe

(2) North America

(3) * North Africa and Western
Asia

(4) Eastern and South-Eastern
Asia

(5) Question not attempted

Which of the following is not a part

of Peninsular Indian Plateau ?
(1) Karbi-Anglong Plateau

(2) North Cachar Hills

(3).~ Chota Nagpur Plateau
(4) . Barylle Hills

(5) Question not attempted

Indian Ocean Dipole (IOD) is

related with

(1) Tsunami forecasting in Indian
ocean

(2) Cyclonic warning in Indian
ocean

(3):» Indian monsoon forecasting
(4)" Polar reversal in Indian plate
(5) Question not attempted

Which among the following
statements is not true about the
Peninsular Indian rivers ?

(1) The drainage basin of the
Peninsular rivers are
comparatively smaller in size.

(2) The main water divider of
Peninsular India is formed by
the Western Ghats.

(3) ' The Narmada and Tapi rivers
form estuaries in Arabian sea.

(4) The Kaveri river forms
estuary in Bay of Bengal.

(5) Question not attempted
o




34.

35.

36.

(2

WRd H JeTelt/ST % gEey #
Frfeed & & wF @1 wom w7 R ¢
(1) g 57 i3 U1 @R SH1 YR & T
B oy Heha § |

T U AR T IR S # |

Ig 99 T 9 YA A B e A
T S T AT AR E |

¥ W Aoy weEt g,
e st e § |

FATANG w9

3)

4

®)

FHa g TR ¢

(e 89)
(1) wfvre, sigm -
(2) i, Ser - ¢
(3) Rordeht, demr -
(4) T, AR -
(5) ITgaRa s

= 1 & e-tfia Y IR (e:NAM) &
FAF A AR AR R ?

(a) ARG FITA qeheieh bl STGMT
(b) Ha G 7 B fesida wwr

(c) I I 3T F AT ST

(1) 9 (a) 71 (b) T3 |

(2) Sad (b) T (c) T |

(8) e (c) AT (a) TE &

(4 g

(5) STgRA S

HET T
3T e
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34.

35.

36.

Which among the following
statements is not true about
Littoral/Swamp forests in India ?
(1) These forests can grow both
in fresh and brackish water.
These forests are found on the
western coasts.

These forests are known as
Sundarban at the delta of
river Ganga and Brahmputra.
The important species of
these forests are sundari,
sonneratia and burguiera.

(2)
(3)

(4)

(5) Question not attempted
Which match is not correct ?
(Coal Field) (State)

(1) Raniganj, — West Bengal
Bankura

(2) Jharia, — Jharkhand
Bokaro

(3) Singrauli, — Madhya
Sohagpur Pradesh

(4) Talchar, — Andhra
Sambhalpur Pradesh

(5) Question not attempted

Which is  correct regarding

launching of the e-National

Agriculture Market (e-NAM) from

the following ?

(a) Adoption of innovative
agricultural technology

(b) Improve price discovery
mechanism

(c)

(1)

Provide income support to
farmers

(2)

(3

Only (a) and (b) are correct.
Only (b) and (c) are correct.
Only (c) and (a) are correct.

(4) All are correct.

(5)

Question not attempted
ocC

Ay




37.

38.

39.

oC

Torcitr ad 23 & [ 87 & YeEA & Ty

¥ fforfiaa sl w famm it

(A) iesh 3R TERTE frete aeft Tt
% $o qa1 87 H.wm e, w1 -
e ARE AR R |

(B) 19 TSH! &1 T T TH{esh &9 &
off TS % FE W@ &
SwEdte. w1 3" A
TITEH AT # |

SR o ¥ B a1/ R FE /2 ?

(1) 9 (A)

(2) Fa« (B)

() (A B)aH

@) F@ () IRTE B)

(5) I WA

feamat 2024 & 1= TH, WG 6 FA

FETia &an 8, Feftehtofia St o1 fopamn

e ?

(1) 40.9%

(3) 47.1%

(5) ST S

R & I8 3R IR 3T & ey o

e wuEi w famm Rt

(A) 9Rd TP TR W 76 3R aRym
%1 531 TaQ g frafas 2 |

(B) & TN Hehel W] UG A 2.3%
s Prafa § 12% w1 Ave ST ¢ |

(C) I8 T T T Fg1 USHIR Forehet
g 2 Traw 65 fuferaw @ srftres &
8 AR I S |

I A SN a1 /A FUA TR B/2 2

(1) wae (A)F(C)

(2) e (B)

(8) a1 (A)F (B)

@ @A), B) W@ C)HHNTEE |

(5) TR ¥R

(2) 43.9%
@) 45.0%

A

. T —— a— T T TS, TR TR Rs— Ti—

[
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37.

38.

39.

Consider the following statements
regarding the service sector
performance in F.Y. 23 :

(A) Karnataka and Maharashtra
together contribute to more
than one-fourth of the total
service sector GSVA of all
states.

(B) A group of 19 states
collectively accounts for more
than half of the total service
sector GSVA of all states.

Which of the above statements

is/are correct ?

(1) Only (A)

(2) Only (B)

(3) Both (A) & (B)

(4) Neither (A) nor (B)

(5) Question not attempted

How much share renewable energy
constitutes of India’s total installed
capacity by the end of December
2024 ?

(1)  40.9% (2) 43.9%

3) 47.1% (4) 45.0%

(5) Question not attempted

Consider the following statements
regarding India’s Textile and
Apparel Industry :

(A) India is the sixth largest
exporter of textiles and
‘apparel globally.

(B) This industry contributes 2.3%
of GDP and 12% to exports.

(C) It is the largest employment

generating sector in the

country in which over 65

million people directly get

employment.

Which of the above statements

is/are correct ?

(1) Only (A) & (C)

(2) Only (B)

(3) Only (A) & (B)

(4) (A), (B) and (C) all are correct.

(5) Question not attempted
: : a



40. WRA # JB-FAd §-TieHH & dey |

41.

fadasRarad 7R 2

(1) g Fafas! A T a9 H Seq §
HEe T |

Iz 9 fafawt & ol faws
TSR & TSR} <l T T |

™ 9 H W ¥ v 9w
W T f&& /e |

e SifeA Hidha & Aead |
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@)
3)

4

(5)
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A) wiftieh g ywie sdeet
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40. Which of the following is not

41.

correct about the Trade Connect
e-platform in India ?

(1) It will enable exporters to add
newer markets.

It will identify the
opportunities in the world
market for Indian exporters.

With the launch of this
platform, India will be able to
increase its market share in
the world.

()

3)

(4) Through the online video
conference, this will provide
quick information to our

importers.

®)

Question not attempted

Which of the following subjects are
mentioned in the list of ‘Provincial
Subjects for Transfer’ under the
Government of India Act, 1919 ?

(A) Religious charitable
endowment

and

(B)

Development of Industries,
including Industrial research
and technical education

(C) Pilgrimages within British

India
Choose the correct option :
(1) Only (A) and (B) are correct.
(2) Only (A) and (C) are correct.
(3) Only (B) and (C) are correct.
(4) (A), (B) and (C) are correct.
(5) Question not attempted

oC




42.

43.

44,

oC

Rd SR Afufaam, 1935 & g 4,
Frafafaa wuai W famm st

(@) Toreft s & et i fgfe TeR-
S IR I AT |

gfe TeAT-Se, Tt i & T
¥ O 9T w1 W, wgE 2 6w
fRufy 3= 2 € @ Rl v H
TR 3@ JREE F gEuE &
FER & e Fhd @, @ T8
Ieaon e gt wifwEt o A
FIAAGHATR |

IR fevmuFeE A A S A/ A /8 2
(1) = ()

(2) e (id)

(3) (i) 3R (ii) a

(@) T @) IFRAE G

(5) I A

R 1 fere @ & feifea 7 8w
o ¥ Tyl wefRer & Aftmr-a3 %
IcdTed &1 Aoy formm m @

(1) m3d (2 &

(3) @& (4) TRES

(5) I SR

YW GYYA AR @ YR gfaue
% w3 # f=fafaa & @ i @ 3Rt
STre1/37a  Tia/sfaeaua foram i ?
@ 15(4) (i) 19(2)

(iii) 31% (iv) 31®@

(v) 382% (vi) 35(%)

Tt ferepeu g4

@) Fa@ (), (i), (iii) 3R (iv)

@) %= (), (i), (iv) 3R @)

(3) = (i), (ii), (v) 3R (vi)

(4) Fa (i), (ii), (iv) 3R (V)

(5) 3T A

(ii)

A

15

42.

43.

44.

With reference to the Government
of India Act 1935, consider the
following statements :

(i) The Governor of a Province is
appointed by Governor
General.

(i) If the Governor-General, on

receipt of a report from the
Governor of a Province, is
satisfied that a situation has
arisen in which the
government of the province
cannot be carried on in
accordance with the
provisions of this Act, he may
by Proclamation assume to
himself all powers.

Which of the statements given

above is/are correct ?

(1) Only (i)

(2) Only (i1)

(8) Both (i) and (ii)

(4) Neither (i) nor (ii)

(5) Question not attempted

In which of the following sessions
of the Constituent Assembly of
India, it has been decided to
abolish the jurisdiction of the
‘Privy Council’ ?

(1) 8t (2) gth
(3) 10tk 4) 11t
(5) Question not attempted

Which of the following Articles was
added/inserted/substituted in Part 3
of the Constitution of India by the

First Amendment Act ?

@ 15(4) (i) 19(2)
(1) 31A @iv) 31B
(v) 32A (vi) 35(a)

Choose the correct option :

(1) Only (), (ii), (iii) and (iv)
(2) Only (1), (iii), (iv) and (v)
(3) Only (1), (1), (v) and (vi)
(4) Only (ii), (iii), (iv) and (v)
(5) Question not attempted




45.

46.

47.

“TRAT FoeT wigar 2002’ 3R TE TR

I Femwr sfafem, 1971 wra %

Hfaum & fFrfofea § @ feg smese A

gEfRE g ?

(1) 31T=3% 51-%F ()

(2) 3IT<VE 51-% ()

(8) TT=T 51-%F (B)

(4) 3T=Dg 51-% ()

(5) 3T ¥

YRd & Gfou™ & YEYEl % 3rd

Frefafea § & =9 @1 o9 ¥ iy v

el (Sfieadl) & dEd TW A ™

eI @ 7

(1) wEpr affeat 1 3= |

(2) 3rggea, sufod, g Sl
3R 3= gelet ot & fren af aref
Tt fEat i ey |

(3) TSN Wed & TR, T 3K
FEIST T T |
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(5) IrguRa T
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@ Tgafa sl 6 TR w5
Hfe soraex Bar @ safeg @R @
FEHT HEET AIR et @ | SR
%1 fowgawg & fou wgefa =,
Hfew TR Rien Bt 2 |

AL) wrure fEkea % 9v=Tq Tgafd ®
RIS TR H BT 2 |

(1) Faa@DEd?|

(2) haet (I1) 91 R |

B OuwWanzEiadi|

@) TR, FRAD TR

(5) TgARa

45.

46.

47.

‘The Flag Code of India 2002’ and
‘Prevention of Insults of National
Honor Act, 1971’ is related to
which of the following Articles of
the Constitution of India ?

(1) Article 51-A (a)

(2) Article 51-A (d)

(3) Article 51-A (g)

(4) Article 51-A ()

(5) Question not attempted

Under the provisions of the

Constitution of India, which one of

the following is an ‘obligation of

the State’ under the Directive

Principles of State Policy (DPSP) ?

(1) Promotion of co-operative

societies.

(2) Promotion of educational and
economic interests of
Scheduled Castes, Scheduled
Tribes and other weaker

~ sections.

Protection of monuments,
places and objects of national
importance.

Raise the level of nutrition
and the standard of living and
to improve public health.

(5) Question not attempted

3

(4)

Consider the following statements
regarding Address of the President
in Parliament of India :

(I) Being a statement of policy of
the Government, the
President’s Address is drafted
by the Government; it is not
the President but the
Government who is
responsible for the contents of
the Address.

After the general election, the
President deliver his address
only in Lok Sabha.

Choose the correct option :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.
(4) Neither (I) nor (II) is correct.
(5) Question not attempted

D

oC




48.

49.

50.

oC
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48. According to the Constitution of

India, if any question arises as to

whether a member of either House

of Parliament has become subject

to any of the disqualifications

mentioned in clause (1) of Article

102, to whom shall the question be

referred for decision ?

(1) The President

(2), The Speaker of Lok Sabha

(8) The Election Commission of
India

(4) Ministry of Law and Justice,
Legislative Department

(5) Question not attempted

Consider the following statements
with reference to the death or
resignation of Prime Minister :

@ In the case of resignation, the

“! President may ask the Prime
Minister and other Ministers
to continue until alternative
arrangements are made.

(i) In case of death, till the party
in majority in Lok Sabha
elects a new leader, the
President may appoint a
person who is most likely to
command majority support in
Lok Sabha. :

case of death, the
President may also appoint,
as an interim measure, the
senior most member of the
outgoing Council of Ministers
as Prime Minister.

Which of the statements given

above is/are correct ?

(1) Only (i) and (ii)

(2) Only (ii) and (iii)

(3 Only () and (i)

(4) (@), (i) and (i)

(5) Question not attempted

Under which of the following
Sections of the Representation of
People Act, 1951, ‘Declaration of
Donation received by the Political
Parties’ is mentioned ?

1)y 29 (2) 29A

(3) 29B 4) 29C

(5) Question not attempted
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52.
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51.

52.

53.

Which among the following is not
an allied organization of the
Federation of Indian Chambers of
Commerce and Industry (FICCID) ?
(1) All India Organisation of
Employers (AIOE)

(2) Organisation of
Industry (OII)

(8) Confederation of Indian Food
Trade and Industry (CIFTI)

(4) Indian Council of Arbitration
ICA)

(5) Question not attempted

Consider the following statements

regarding Treaty of Peace,

Friendship and Cooperation

between the Republic of India and

Union of Soviet Socialist Republics

(USSR) :

(I It was signed in Moscow on
12th July, 1971.

) It was signed by AA.
Gromyko on behalf of the
Union of Soviet Socialist
Republics (USSR).

Choose the correct option :

(1) Only (I) is correct.

(2) Only (II) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

(6) Question not attempted

Consider the following statements
regarding Indian Foreign Policy in
Nehru era :

(i)

Indian

A ‘Treaty of Perpetual Peace
and Friendship’ was signed
between India and Bhutan in
August 1948.

Bhutan’s First Five-Year Plan
was launched in 1961, which
was 100% financed by India.
Which of the statements given
above is/are correct ?

Only (1)

Only (i1)

Both (i) and (ii)

Neither (i) nor (ii)

(5) Question not attempted

(i1)

ocC
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oC
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ST TR T |

SR R U Sy § A B /A T 2/ ?
(1) e ()

(2) e (i)

@) @) 3 @) af

(@) Q) IR )

(5) g S

e AT & wrgegeR, fefaiaa
F ¥ B o e wiEE e TEE
3 foprg TUETa: TS T8I 8 7

(1) o

(2) ST BT

(3) SIAEHRTIT HTAT

(4) uftEEl

(5) IFFHRA A

(2) 2005
(4) 2007

(i)

FE R — Ll )
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54.

55.

56.

In which of the following year India
has started its contribution in the
United Nations Peace Mission in the

Golan Heights (UNDOF) ?
(1) 2004 (2) 2005
(3) 2006 (4) 2007

(5) Question not attempted

Consider the following statements :

(@) Glocalization is the
simultaneous occurrence of
both  universalizing and

particularizing tendencies in
contemporary social, political,
and economic systems.

(i) The term, a linguistic hybrid

of globalization and
localization, was coined and
popularized by the sociologist
Roland Robertson.

Which of the statements given
above is/are correct ?

(1) Only ()

(2) Only (1)

(3) Both (i) and (ii)

(4) Neither (i) nor (i) -

(5) Question not attempted

According to scope of educational
psychology, which of the following
learning process is very important
but not directly observable ?

(1)
(2)
3
)
(5)

Writing
Talking
Perceiving
Discussing

Question not attempted
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58.
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57.

58.

59.

Which of the following statement is
not related to the characteristics of
educational psychology ?

(1) The aim of educational
psychology is to improve
human behaviour.

The basic concepts, principles
and methods of general
psychology are used under
educational psychology.
Educational psychology is not
scientific in nature.
Educational psychology
studies human behaviour in
educational situation.

(5) Question not attempted

@)

@)
(4)

According to life-span development
theory “identity versus identity
confusion” is a characteristic of
which developmental period ?

(1) Early adulthood

(2) Middle childhood

(3) Early childhood

(4) Adolescence

(5) Question not attempted

Read the sentences given below
and select answer from the options :

A. Teachers, families and peers
are part of the students’ context

regarding their development.

B. Context is the partial
situation that surrounds and
interacts with an individual’s
thoughts, feelings and actions.

Both A and B are correct.
A is correct and B is wrong.

&y
)
@)
(4)
()

A is wrong and B is correct.
Both A and B are wrong.
Question not attempted
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61.
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oC
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60. In Piaget’s theory, grouping of

61.

isolated behaviours and thoughts
into a higher-order system is called :

(1)
2
(3) Organisation
(4)
6

Schema

Assimilation

Accommodation

Question not attempted

Which one of the following
statements is not true in the
context of Vygotskey’s theory of
social constructionism ?

(1) Child can regulate his/her
behaviour by using private
speech.

Our specific mental
structures and processes are
independent of our
interaction with others.
Mental process such as
reasoning and problem
solving are mediated by
psychological tools.

Children’s self talk guides
their thinking and actions.

(5) Question not attempted

@

3)

4)

Association of automatic responses
with new stimulus is called :

(1)
(2)
3
(4) Extinction
(5)

Classical conditioning
Insightful learning

Operant conditioning

Question not attempted

7
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63. As per researches on learning by

64.

65.

different schools of thought in
psychology, the concept of learning
is interpreted as follow :

(a) Learning as response
acquisition

(b) Learning as active mental
process of knowledge
acquisition

(¢) Learning as knowledge
construction

Out of these three, which denote
cognitive perspective of learning ?

(1) (a)and (b)

(2) (a)and (c)

(3) (a), (b) and (c)

(4) (b) and (c)

(5) Question not attempted

Allport’s theory and Cattell’s
theories of personality are based on

(1) Type Approach

(2) Trait Approach

(3) Humanistic Approach

(4) Psycho-Analytic Approach
(5) Question not attempted

Which of the following are direct
methods of adjustment by reducing
dissatisfaction, tension, frustration
and conflicts ?

(a) Removing hurdles

(b) Sublimation

(c) Identification

(d) Changing ways

Select the correct answer by using
the codes given below :

Codes:

(1) (a) and (b) are correct.
(2) (b) and (c) are correct.
(3) (a) and (d) are correct.
(4) (b) and (d) are correct.
(5) Question not attempted

oC




66.

67.

68.

oC

T B 3 TSR H, TGS g1 T Th 331
% St 379 Thedl o Watg T
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) MfFaehreptor

(3) favemm
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1) = () 38
2 ume g
3) Ede

(4) =R gfe
(5) T SIRA
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(a) TR AN

(b) TR Heail T A BT

(©

(d) TS H FETAd HET

T IR 1 =9 9 @ T g w1 I
ek IR -

%
(1
2
3
(CY)
(6))

(a) @1 (b)
(c) @1 (d)
(a), (c) T (d)
(b) T (c)

SN T
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67.

68.

A student after failing in studies
satisfied himself by becoming a
good singer and achieving great
success and fame. The adjustment

mechanism used by the student is
called :

(1)
(2)
3
(4)
(5)

Regressibn
Rationalization
Displacement
Compensation
Question not attempted

Which of the following types of
intelligence is related to the ability
to understand and use verbal and
mathematical symbols ?

1)
@
3)
4
®)

Concrete Intelligence
Social Intelligence
Abstract Intelligence
Practical Intelligence
Question not attempted

Which of the following elements
are included under the personal
element of emotional intelligence ?

(a)
(b)

Self motivation
of

Awareness one’s
emotions
Empathy

Handling relationship

own

(©)
(d)
Select the correct answer by using
the codes given below :

Codes :
(1) (a)and (b)
(2 (c)and (d)
(3) (a), (c) and (d)
(4) (b) and ()
(5) Question not attempted
o

!\




69. ST STShAT T TE A B ;

70.

71.
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70.

71.

' €9. The correct sequence of creative

process is
(1) Preparation — Insight —
Incubation — Evaluation —

Elaboration

(2) Preparation -» Evaluation —
Incubation -» Insight —
Elaboration

(3) Preparation — Incubation —
Insight — Evaluation —
Elaboration

(4) Preparation — Incubation —»

Insight — Elaboration —
. Evaluation
(5) Question not attempted

A student may study hard for a
test. because he/she enjoys the
content of the course. It is an
exarnple of

(1) ." Extrinsic motivation

(2) Intrinsic motivation

(3) Amotivation

(4) Person-environment fit
(5) Question not attempted

When the individual perceives
performance as instrumental to
sense a personal accomplishment,

it is called :

(1) Achievement Motive

(2) Maternal Motive

(3) Aggression Motive

(4) Affiliation Motive

(5) Question. not attempted

ocC
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73.

74.

75.

oC
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72.

73.

7.

Which one of the following is not a
characteristic of gifted children ?

(1) Reasoning ability

(2) Greater ability to generalise

(3) Retain what they learn with
much drill :

(4) Discovery of cause-effect
relationship

(5) Question not attempted

Which of the following is an

example of interindividual

difference ?

(1) A person is taller and wiser
than the other person.

(2) A person being good at

studies but not so good at

sports.

A person can express a fact

well in writing but cannot

express it properly by

speaking.

(4) ' A person can easily remember
people faces but forget names.

(5) Question not attempted

@)

A student has enduring tendency
to enjoy working on mathematical
problems. This is an example of

(1) Aptitude

(2) Individual Interest

(.3) Situational Interest

(4) Intelligence

(5) = Question not attempted

A toacher has specific ability to
acq'u;'\re proficiency in teaching
under -appropriate conditions. It
denotes:

(1) General ability for teaching
(2) Aptitude for teaching

(3) Motivation for teaching

(4) Interest in teaching

(5) Question not attempted



76. TseyH # fr=fafea 3 & frg sres
! ST STefh! WY HHT SR 7
(1) raQH (2 w@H

(3) IrgeeA (4) I

(5) JTgafd S

Frafefaa & @ e &7 afEl & @ =t
“Bravft” Hgr T 8 7

1) «m, 3, sid

(2) ™, F T, e

(8) wRa, BATer, Wi

(4) s, SBE, Ak

(6) g e

SU T AG-IUHRSHE Wl g
Sty BShw = # & forwt fredt & g
T ureft St @ 7

(1) sieETsT, §RE, IR

(2) SEER, SHMT, STE

(3) AR, FAANR, HALR

(@) et e, g

(6) IFTiawE

319, 2023 #i AR & FaR, Towam
% 1 S STt ol Hare o Rt 9, ¢
(1) IR, IFeT, T

(2) ST, S, FaTHTE

(3) AR, IR, foitee

(4) IS, I, FHieft

(5) 3TFTRa W

A& R T 9 § et § 3 95
ot wHet gaites a4 ) St &

(1) drEe (2 ‘=R

(3) e (4) @R

(5) Tgea s

71.

78.

79.

80.
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76.

7 8

78,.

79.

80.

Which amiong the following sand
dunes in Rajasthan is considered
as fossilized sand dune ?

(1) Obstacle (2) Barkhan
(38) Longitudinal (4) Transverse
(5) Qquestion not attempted

The confluence of which of the
following three rivers is called
“Triveni” ?

(1 Som, Ahu, Bandi

(?2) Banas, Mainal, Bedach

(3) Morel, Mainal, Gambhiri

(4) Banas, Kothari, Morel

(5) Question not attempted

In which group of districts is the
tropical and sub-tropical steppe
type climate BShw is found ? |

(1) Banswara, Dungarpur, Udaipur
(2) Jaisalmer, Bikaner, Badmer
(3) Jaipur, Alwar, Bharatpur

(4) Pali, Sikar, Jhunjhunu

() Question not attempted

The top three districts of
Rajasthan having highest total
forest area as on 31st March, 2023
were
1)
2
(3)
(4)
6))

Which among the following crops is
produced most in Mahi and Banas
basins ? :

(1) Soyabean (2) Jowar

(3) Maize (4) Gwar

(5) Question not attempted

Udaipur, Alwar, Baran
Udaipur, Baran, Pratapgarh
Udaipur, Alwar, Chittorgarh
Udaipur, Baran, Karauli
Question not attempted

(0]6)




81.

82.

83.

84.

oC
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81.

82.

83.

e o]
1=

As per Livestock Census-2019,
which among the following is not

‘matched correctly ?

Share of
Livestock Rajasthan in
India
(1) Goats 12.05%
(2) Sheep 10.64%
(3) Camels 84.43%
(4) Buffaloes 12.47%
(5) Question not attempted

Which pair of districts is having
lowest population growth rate in
Rajasthan between 2001-2011 ?
(1) Pali, Sirohi
(2) Shri Ganganagar,
Jhunjhunu
(8) Tonk, Bikaner
(4) Hanumangarh, Churu
(5) Question not attempted

Which among the following is not
matched correctly as per Census
20117

Districts Child Sex Ratio
(Rajasthan)
(0 to 6 Years)
(1) Banswara 934
- (2) Pratapgarh 933
(8) Udaipur 926
(4) Bhilwara 828
(5) Question not attempted

. Which one of the following is not

correctly matched ?

Woolen Textile Mills District

(1) State Woolen Mills Bikaner

(2) Worsted Churu
Spinning Mills

(8) Worsted Pali
Spinning Mills

(4) Foreign Export- Kota
Import Institute

(5) Question not attempted
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85.

86.

87.

Match List-I with List-II and select
the correct answer using the codes
given below :
List-I List-IT
(Tourist Centre) (District)
A. Getor I.  Udaipur
B. Jag Mandir II. Bundi
C. Suraj Chhatri III. Ajmer
D. Nathmal ki IV. Jaipur
Haweli
E. SonijikiNasia V. Jaisalmer

Codes:

A B € Do
)y HL: T 0V
@) IV 1o AT oo
(o) TR IR 5 16 S e o
(- H I ) | B 1 | S T 1
(6) Question not attempted

Which of the following was used in
the construction of drains for
drainage system in the houses of
Kalibanga ?

A. Wood

B. Baked brick

C. Stone

Codes :

(1) Only A (2) OnlyB

(3) Aand B (4) BandC

(5) Question not attempted

Consider the following statements
about Ahar civilization and choose
the correct option :

A. Ahar residents were known to
farming.

B. Ahar residents were familiar
with printing and dyeing of
clothes.

(1) Only A is true.

(2) Only B is true.

(3) A and B both are true.

(4) A and B both are false.

(5) Question not attempted
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88.

89.

90.

91.

92.

Which of the following statements
regarding the Pratiharas of
Mandore is not correct ?

(1) Harishchandra was known as
“Rohiladhi”.

(2) The genealogy of the
Pratiharas of Mandore begins
from Rajjil. :

(3) Naga Bhatta First shifted the
capital from Mandore to
Merta.

(4) Bhog Bhatt defeated Devraj
Bhati, the ruler of Valladesh.

(5) Question not attempted

Which Chauhan King conquered

Nadole, Chittor and Jalore from

Kumarpal Chalukyas ?

(1) Arnoraj (2) Ajayraj

(3) Vigraharaj III (4) Vigraharaj IV

(5) Question not attempted

Maharana Sanga won the fort of
Bayana from which of the following
governor of Babur ?

(1) Mir Baqi

(2) Bairam Khan

(8) Mustafa
(4) Mehndi Khawaja
(5) Question not attempted

Rana Hammir cai)tured Chittorgarh
during the reign of which of the
following Sultans ?

(1) Alauddin Khalji

(2) Qaiqubad

(83 Muhammad Bin Tughlaq
(4) Sikandar Lodi

(5) Question not attempted

Who among the following was not
involved in the Mughal campaign
against Rao Chandrasen in Siwana ?

(1) Keshodas (2) Jagatram
(3) Raisingh (4) Kalla
(5) Question not attempted
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(2) TTEETE JAftEYH, 1888 %,

(8) wg™ AfEvE, 1887 3.

(4) et AREATH, 1886 5.

(5) IIgTRa T

T ¥ Woaal gum § iR
a%mﬁﬁaﬁm;%@aﬁﬁq:
A. & FAIHT &} ygTed
B. m%mﬁaﬁm

C. ST % 9IRS MYl & TEed
<
(1)

A B, C
3 B,AC

(5) TG e

“FHYTHTE ! I T GHREIR-F T GG
“TIRE” T R i SR ww e ?

(1) 9y Harme™

2 o fie e

(3) wfor oATet 9wl

(4) TS TRH

(5) Irguid S

(2 CAB
4 ACB
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93.

94.

95.

96.

i
|
|
|
|
| 97.
|
|
l
|
|

Consider the following statements
about Maharana Raj Singh and
choose the correct option :

A. Raj Singh sent gifts on
Aurangzeb’s coronation.
B. Aurangzeb returned

Dungarpur to Raj Singh.
Codes :
(1) Only A is true.
(2) Only B is true.
(3) A and B both are true.
(4) A and B both are false.
(5) Question not attempted

Rana Prithvi Singh, the ruler of
which of the following states, was
arrested by Tantya Tope ?

(1) Jhalawar (2) Dungarpur

(3) Banswara (4) Pratapgarh

~(5) Question not attempted

In which session of Indian National
Congress, Ajmer represented
Rajasthan for the first time ?

(1) Bombay Session, 1885 A.D.
(2) Allahabad Session, 1888 A.D.
(3) Madras Session, 1887 A.D.
(4) Calcutta Session, 1886 A.D.
(5) Question not attempted

Arrange the following martyrs in

the freedom struggle of Rajasthan

in chronological order :

A. Martyrdom of Bal Mukund
Bissa of Jodhpur

B. Martyrdom of Birbal Singh of
Bikaner

C. Martyrdom of Sagarmal Gopa
of Jaisalmer

Codes :

(1) AB,C 2y CA B

3 B,AC 4 ACB

(5) Question not attempted

Who among the following under
the name “Nagarchi” edited the
newspaper named “Uparmal Ko
Danko” ?

Sadhu Sitaram Das

Vijay Sinih Pathik

Manikya Lal Verma
Mannaji Patel

Question not attempted
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98.

99.

100.

ocC

TSR % THIH o F=i2d Y | | 98. Consider the statements related
feam Hifsu with the integration of Rajasthan :
A 19508 AR T i A | A. Sirohi state was divided into
fararrom B FoT TR | 7 two parts in 195(? AD. :
< & Rl Ta 5 B. Abu Road and Dilwara tehsils
= 1950 : : b of Sirohi state were merged
Qaniia'é'a@' et sug = H fre into Bombay Province in 1950
@ off | AD.
Hr= few e et o @ T fospea gt - Choose the correct option from the
(1) FAATARI options given below :
9) ¥ B | (1) Only A is right.
@ ‘a‘g?r% (2) Only B is right.
(3) AIRMBHITHE |
o AsRBI 5 (3) Both A and B are right.
@) RS (4) Both A and B are wrong.
®) 3, G (5) Question not attempted
fafafea ToEwl # 37H perelEl % | 99. Match the following Dynasties with
a1y gferd Hife : their Kuldevis (Female Deities) :
TS Fafmt Dynasties Kuldevis
A HEH I e A. Chouhan I. Chilay
B S I s B. Tanwar II. Kheemaj
. 2 o C. Solanki III. Ashapura -
C. dwehl  IIL 3y D. Dahiya  IV. Kaivaay
2_'& e IV. Choose the correct code :
R T W HIRT : Codes :
R A B 0D
i ﬁ I% (13 I?I () =H+ N cLe ol
(2 IV =01 L
@y I I - 1 @Il T I
g L e |l @wsr Wew W
(5) Question not attempted
(5) TITNG T
= 4 9 fem gt § TaeEm TS 9 i 100. In which of the following fort, a
arafRrm oft ? | lCannczln‘? named ‘Navalban’ is
te
(1) v e
(1) Shahbad
2% 3 : l (2) Kumbhalgarh
(3) HESHTG | (3) Mandalgarh
(4) TR | (4) Gagron
(5) AgANd T | (5) Question not attempted
31 (=]
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